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1. KpnTeplm U CpeACTBA ONCHUBaAHUSA KOMIIeTEHIIMH 1 HHAUKATOPOB UX NOCTUKCHUS, (b()panyeMblx JUCHUILTMHOMH (MO)Iy.]'[eM)

Pe3yabTaThl 00y4eHHs 110 AUCHMUILIMHE (MOLYJ/IIO OuneHounble
Kon n Konx u HanmeHoBaHHe Y M amen (mony.rio) ;I P OneHounblie
HanMeHOBaHHe HHIUKATOPA(0OB) TOCTHKEHHU S T(I:K 1ero cpeacTBa
KOMIIeTeHI[UH KOMIEeTeHI[HH y NMPOMEKYTOYHOM
3uamo Ymemo Bnaoemow KOHTPOJIA
aTTecTaluu
VK-4 Cnocoben UJ1-1yk.4 COcOGEH rPaMOTHO 1 TeMaTHYECKUH CTI0Baph; paboTaTh C eN0BOkH HaBBIKAMH
MIPUMEHSTH BBIPA3HTEJILHO CTPOUTH Petb JUIs OCHOBBI OpTraHU3aIHAN JIOKYMEHTAIeH Ha S3bIKe, paboTEI ¢
COBpPEMEHHBIE KOMMYHHUKaLWii Ha FOCY1apCTBEHHOM JICIIOBOM KOMMYHUKAIIUU BKITIOYAst TaKKe (POPMBI KaK JIEIOBOM
KOMMYHUKATHBHBIC s3biKke PO 1 MHOCTPAHHOM S3bIKE Ha aHIJIMHCKOM SI3bIKE; pe3tome, OM3HeC-TUIaH, KOPPECTIOHICHIIH
TCXHOJIOTHH, B TOM OCHOBHBIC (bOpMI)I JCJIoBasd Mpe3cHTalu, eﬁ, HaBbIKaMHU
NJ1-2yk.4 Dopmynupyer conepxraHue .
quCIIe Ha JIETIOBOM IOKYMEHTALUH JIeTIOBOE TIHChMO; paboTaTh CO | MPOBEICHUS
KOMMYHUKAIIMU B CTUJIC HAYYHOI'O o
I/IHOCTpaHHOM(LIX) o Ha aHI'JIMMCKOM S3BbIKE U CJIOBApAMHU, SHOUKIIOTICTUAMUA JIMHT'BOCTHIIMCTHUY
M3JI0KEHHUS, JOKA3aTeIbHON
sI3BIKe(ax), IS . CIIOCOOBI e¢ BEJCHUS U IPYTHMH CTIPABOYHBIMH €CKOTO aHalu3a
apryMeHTalliy ¢ OTOPOH Ha .
aKaJIeMU9IeCKOTO MaTepHajaMH TeMaTHIECKOH JIEJIOBOTO TeKCTa
po¢eCCHOHANBHYIO JICKCUKY
po(eCCHOHATHHOTO HarpaBJIeHHOCTH
S —— WJ1-3yk-4 [leMoHCTpUpYeT BllajieHHe
COBPEMECHHBIMHU TCXHOJIOTUAMU IJIs - TUIIOBBIC
JCJIIOBBIX KOMMyHI/IKaIlI/Iﬁ 3alaHus JIsd
BBIIIOJIHCHUA
NPAKTUYECKUX Pabota Ha 3aHATUAX
N-1yk.s [IposBiseT mupoKuii pabor; Tecr
VK-5 CriocoGen KPYT030p, HHTEPEC K HAYIHBIM - TECTOBBIC
3a/IaHus;

aHAIM3UPOBATh U
YYUTHIBATh
pasHooOpasue
KYJBTYp B IpoIecce
MEXKYIBTYPHOTO
B3aUMOIEUCTBUS

TYMaHUTapHBIM HCCIICOBAHUSIM
KyJIBTYpHOTO pa3HOo00pa3us

N-2yk.5s CriocobeH k 3 hekTHBHOMY
MEKKYJIBTYPHOMY COTPYIHHYECTBY B
MOJUKYJIBTYPHOH U MOJUITHUYECKOH
cpene

N I-3yk-5 [IposiBIIsIeT HABBIK aHAIH3a
KYJIBTYPHBIX TEKCTOB Pa3IHUHBIX
THIOB IS TIOATOTOBKH HAYYHBIX U
MPaKTHKO-OPHUEHTHPOBAHHBIX
Hcce0BaHui, 000CHOBAHUH
MIPOCKTOB




2. Ouenka ypoBHsi cGOPMHUPOBAHHOCTH KOMIETEeHIMH (MHAUKATOPOB UX JIOCTHKEHHUS)

Iloka3zarenn IIIkajia 1 KPUTEPHHU OLIEHKH YPOBHA CpOPMHPOBAHHOCTH KOMIICTEHIMI (MHANKATOPOB MX JOCTUKEHUS)

OUEHHMBAHRME Hwu:xe moporosoro Iloporoserit IIpoaBuHyTHI Bbicoknii
KOMIICTCHITMH («HeyOo8nemeopumenbHo») («y0oeremeopumenbHo») («xopowioy) («omauunoy)
(MHANKATOPOB

HX JOCTHKEHHUST)
IHosiHoTA YPOBEHb 3HAHUI HUXKE MuHuMaNbHO AOIYCTUMBII YPOBEHb YpoBeHb 3HaHHH B 00bEME, YpoBeHb 3HaHUH B 00BEME,
3HAHM# MHUHHMAJbHBIX TPEOOBaHMUI. 3HaHUIL. COOTBETCTBYIOLIEM ITPOTpaMMe COOTBETCTBYIOLIEM ITPOrpaMMe
Nmenn mecto rpyObIe OMIOKH. JormymieHsl He TpyObIe OMMOKH. MIOJITOTOBKH. MTOJITOTOBKH.
JloTyIeHbl HEKOTOPBIE MOTPEITHOCTH.
Hanuune IIpu BEIMOTHEHUN CTaHAAPTHBIX IIponeMoHCTpUPOBaHBI OCHOBHEIE ITponeMoHCTpHUpOBaHBI BCe OCHOBHBIE | IIpogeMOHCTPHUPOBaHBI BCE OCHOBHBIE
yMeHuii 3a[JaHuil He MPOJAEMOHCTPUPOBAHBl | YMEHHS. YMEHHSL. YMEHUSL.
OCHOBHBIE YMEHUSI. BrINONIHEHBI TUIIOBBIE 3a1aHKS C HE BeInonHeHb! BCE OCHOBHBIE 33/1aHU C BeInonHeHBI BCE OCHOBHBIE U
Wmenu MecTo rpyOble OMINOKH. rpyOBIMH OLIMOKaMHU. HEKOTOPBIMHU MOTPEIIHOCTAMH. JIOTIOJTHUTENbHBIE 3a/1aHus 0e3 OMUOO0K 1
BrInostHeHB! Bee 3a/1aHusl, HO HE B BrInonHeHs! Bce 3ajaHUs B TIOJTHOM MOTPEIIHOCTEH.
MOJIHOM 00beMe (OTCYTCTBYIOT 00BEMeE, HO HEKOTOPBIE C HeJoueTaMH. | 3aJaHus BHITIOJHEHBI B TOJHOM 00beMe
MOSICHEHMs], HETIOJIHBIE BBIBOJIBI) 0e3 HeJI04YETOB.
Hannune IIpu BBINIOJIHEHUU CTaHAPTHBIX Wmeercs MUHUMAIBHBIH HAOOD IIponeMoHCTpHUpOBaHBI 6a30BEIE IIpoieMOHCTPUPOBaHBI BCE OCHOBHBIE
HABBIKOB 3aJjaHUi HEe IPOJAEMOHCTPUPOBAHBl | HABBIKOB IS BHITOJHEHUS HaBBIKU IIPU BBIIIOJTHEHUH YMEHUS.

(Bi1aJeHHE ONBITOM)

0a30BbIc HaBBIKH.
Nmenn mecto rpyObIe OMIOKH.

CTaHJAapTHBIX 3a;[aH1/1171 C HCKOTOPBIMH
HCIO04YCTaMHU.

CTaHJapTHBIX 3a):[aH1/1171 C HCKOTOPBIMU
HECI04YCTaMU.

BrInoHeHBI BCe OCHOBHBIE U
JIOTIOTHUTENbHBIC 3a/JaHns 03 OMMOOK 1
[OTPEIIHOCTEM.

[IponeMoHCTpUpPOBaH TBOPUECKUI
MOJXO K PEIICHUIO HECTaHAPTHBIX
3a7ad.

XapakrepucTuka
c¢(popMHUPOBAHHOCTH
KOMIIeTeHI[UH

Kommerenunu dakriueckn He
c(hopMHUpPOBAHEL.

Hmeronuxcst 3HaHUM, YMEHUH,
HaBBIKOB HEJIOCTATOYHO JJIsI
peLIeHUsI TPaKTHYECKUX
(mpodeccroHaNbHBIX) 3a/1au.

N

3a4yeTHOE KOJIMYECTBO OAJIOB HE
Ha6paH0 CorjiaCHoO
YCTAaHOBJICHHOMY JIUAIIa30HY

CdhopMupoBaHHOCTH KOMITETCHIIHI
COOTBETCTBYET MUHUMAaJIbHBIM
TpeOOBaHUSM.

Mmeromuxcst 3HaHUM, yMEHUH,
HABBIKOB B 11€JIOM JIOCTaTOYHO IS
peIeHust MPAKTUIECKUX
(npodeccroHabHBIX) 3a/1a4.

N
Ha6paH0 3a4€THOE KOJUYECTBO 0AILJIOB
COIJIACHO YCTAHOBJICHHOMY AMANIa30HY

CdopMupoBaHHOCTH KOMIIETESHIIHI B
IIEJIOM COOTBETCTBYET TPEOOBAHMSIM.
Nmeronuxcs 3HaHUM, YMEHUH,
HaBBIKOB JIOCTATOYHO TSI PEILICHUS
CTaH/IapTHBIX MPO(GECCUOHATIBHBIX
3ajau.

N
Ha6paH0 3a4€THOE KOJHUYECTBO 0allIoB
COTJIACHO YCTAHOBJICHHOMY AWAIIa30HY

CdopMupoBaHHOCTH KOMITETEHIIHI
[IOJIHOCTBIO COOTBETCTBYET
TpeOOBaHUAM.

Nmeronuxcst 3HaHUM, YMEHUN, HABBIKOB
B MOJIHOM Mepe TIOCTATOYHO /Jis
pEIIeHHs CI0KHBIX, B TOM YHCIIe
HECTaHAAPTHBIX, NPO(HECCHOHATBHBIX
3azad.

N

HaGpaHo 3aueTHOE KOIN4eCTBO OaJLIOB
COIIaCHO YCTAaHOBJIEHHOMY UaNa3oHy




3. Kputepun u mkaja oneHMBaHUs 32IaHUI TEKYIIIEr0o KOHTPOJIsI

3.1 Kpurepun ¥ mkajia olleHUBaHUs IPAKTHYECKUX DPadoT
[Tepeuens mpakTUYECKUX padOT, OMHCAHHME TOPSAKA BBIMOTHEHHS M 3alIUTHl PabOTHI,

TpeOOBaHUS K pe3yabTaTaM padOThl, CTPYKTYPE U COJEPIKAHUIO OTYETa U T.II. MPEICTABICHBI B
METOJMYECKMX MaTepHajax M0 OCBOSHHUIO TUCIMIUIMHBI (MOAYJNA) U B 3JEKTPOHHOM Kypce B
OUOC MAY.

Ouenka/6aibl Kpurepuu ouenuBanus

Omauuno 3aganue BBITIOJIHEHO [IOJIHOCTBIO u MIPaBUIIBHO. OTtuer o
a00paTOPHOM/IPaKTHYECKON pabOoTe OATOTOBIEH KAY€CTBEHHO B COOTBETCTBUH C
TpedoBaHusAMU. [10THOTA OTBETOB Ha BOIIPOCHI IPETIOAABATEIIS IIPHU 3ALUTE PAOOTHI.

Xopowo 3amaHue BBIMOJIHEHO MOJHOCTBIO, HO HET JOCTATOYHOIO OOOCHOBAHUS MU IPU
BCPHOM PpCHICHUN JOMYIIECHAa HE3HAYUTCIIbHasA OIHI/I6K8,, HC BJIUAOIIas1 Ha
MIPaBUJIbHYIO MOCJIEI0BATEIbHOCTh paccyxaeHui. Bce TpeboBaHus,
MPCABABIIICMBIC K pa60Te, BBIIIOJTHCHHI.

Yooenemeopumenvno | 3amaHus BBINOJHEHBI YaCTHUHO C OMIMOKaMHU. J[eMOHCTpUpPYET CpelHUH YypOBEHb
BBIMOJIHEHUS 3aJaHus Ha J1a00paTOPHYIO/TPAKTHYECKYI0 paboTy. BoJbIIMHCTBO
Tpe6OBaHHI>ll, NPEABABIIACMBIX K 3aJIaHNUIO, BHITIOJTHCHBI.

Heyooenemeopumenwvho | 3a7aHue BBITIOJIHEHO CO 3HAYUTENBHBIM KOJIMUECTBOM OLIMOOK Ha HU3KOM YPOBHE.
MHorue Tpe6OBaHI/I§1, MPEABABIACMBIC K 3aJaHUTO, HC BBITIOJITHCHBI.

Wi

3aaHue He BBITIOJHEHO.

3.2 KpuTepnu u 1mikana oneHHBaHNU TECTUPOBAHUS

IlepeueHp TECTOBBIX BONPOCOB M 3aJaHUM, OIMCAHUE IPOLEIYpPhl TECTUPOBAHUS
NpEeJCTaBIeHbl B METOJUYECKUX MaTepualaX IO OCBOSHHIO JUCIHMIUIMHBI (MOIYyJs) U B
anekTpoHHOM Kypce B DMMOC MAY.

B ®OC BxitoveH TUIIOBOM BapHaHT TECTOBOI'O 3aJaHUSI:

1. The odd one out
Circle the word that does not belong to the same field in each horizontal group:

business company society subsidiary
salary manager salesman employee
finance product research marketing
distributing  selling assembling  promoting
components  tools hardware strategy
end user customer client distributor

Il. Word definition

Which of the groups of three words that you identified above refer to the following
definitions?

people wWho buy goods Or SErVICES.........ccceveiiieiiriceee e

types of commercial 0rganisations............cccceevvveiiievie e

different departments or TUNCLIONS..........cccoeiiieniiinisee e

people Who work inside @ COMPANY........ccccveiieiiieeiieeiee e

activities that involve meeting CUStOMErS..........cccooereieneninisiees e

products that can be Sold.........ccoevviiiiiii



I11. Adjectives of Nationality

Read the ten short passages. Below each one you will find a sentence which you should
complete using an adjective of nationality. Make sure that your sentences reflect the
information that is contained in the passage itself.

Packard Bell Electronics has already taken 10% of the US computer market and has
perform better, in some areas, than its two main national rivals Compaq and Apple. Compaq, Apple
and Packard bell are ....................

Nordak is currently recruiting a senior manager who will head up the UK office of its first

foreign subsidiary. Nordak is not of ..........ccccccvevevieveiiciicie e, origin.
The shares of Heineken NV reached a record level of 244.5 guilders yesterday on their
home market in Amsterdam, Holland. Heinekenisa ........c..ccccccevveveinnen. company.

The 'Societe de Bourse Franchise' publishes an annual guide to the 120 biggest national
companies whose shares are sold on the Paris exchange. The Paris exchange sells the shares of the
120 biggest ........ companies.

Coroll have received several enquiries from companies who are interested in representing
products in Spain. However, for the time being they have no intention of expanding into that part
of Europe. Coroll has no plans to enter the ..o, market.

IV. Advertising slogans
Read the slogans and match them with the products or institutions for which you
think they were actually used.

Get into our bed and sleep better ................... a. cosmetic cream

Down under: it'shometo us ........cccccvevveennnne b. ‘Nordic ski’ exerciser
Would Mrs O'Brien trust her precious soles to just anyone. c. Australian airline company
| went to work and left my wrinkles at home ................... d. socks

Waist disposal unit................... e. matress

V. Word-Field matching
Circle the word that does not belong in to the field in each horizontal group.

1 promotion export pricing packaging

2 clause client contract brochure

3 slogan fee money pay

4 star executive actor celebrity

5 to endorse to afford to promote to support

6 computer television commercial advertisement
7 publicity image reputation agent

8 to plummet to fall to rise to drop




V1. Compounds
Match the words on the left with the words on the right to make compound nouns

which are commonly used in advertising.

shops.

shops.

market a. audience
mass b. time
target c. media
direct d. symbol
status e. research
sales f. mail

prime g. promotion

VII. Do or Make

Complete the following sentences with the correct form of make or do.

Store managers ...decisions about which products to keep and which ones...away with.
Although that company has almost the same name as ours, we have nothing ....with them.
You should ....... certain that the customers are always satisfied.

In many cases, it .... sense to stock original products that cannot be found easily in other

He....... a living as store manager for over 30 years and does not plan to retire yet.
Could you .... me a favour and work the morning shift?
...................... workers redundant is never an easy task for a manager.

VII1. Prepositions

Fill in the blanks below with the correct prepositions.

Although Leila is young, she is already successful................... business.

It is necessary........c.......... us to improve our after-sales service.

Is your computer compatible ........................ mine?

The customers are very critical .................. some of the products we sell.

We must be attentive ..........ccecvevvvievvernene the needs of our customers.

1. Our customers are fond .....the 'personal touch' that we try to emphasise in each of our

IX. Business expressions
Match a word from each of the columns below to form expressions that could be used

to replace the words in italics in sentences. Write the answers in the space provided after
each sentence.

VERBS
check 6 raise
provide 7 change
move 8 withdraw
pay 9 earn
order 10 issue

NOUNS
capital f the bill

cash g interest



foreign h a statement
Yy

funds i shares

a loan J balances

In order to increase financial resources the company intends to sell units of its capital on
the STOCK MAIKEL.........ccviiiiiiic s e

Nowadays it is possible to transfer money between different accounts using an electronic
banking system installed in your hOme. .........ccccooov v

My bank has agreed to give me the money | need, repayable over three years, to help me
get the business started. ..........cccccveveeveiiiece e,

It doesn't matter if the banks are closed when | arrive because I'm sure that at the hotel in
Zurich I'll be able to convert some dollars int0 SWiSS FranCs. .......ooeeueeeeeeeeeee e

X. Company’s performance assessment
Read the following authentic newspaper headlines and decide in each case whether

they reflect a good (+), average (0) or poor (-) performance of the company's shares on the
Stock Exchange.

Matsushita expects Y85bn profit boost..........................

Welpac dives to £1.2m 10SS.......oovvviviiiiiiiiiiiennnn,

Philips surges to £193m in third quarter.......................

Jump in Rhone-Poulenc income....................c.oooeeeeee.

Bibby falls £10.7 into the red................ooiiiiiiit.

Sumitono Metal Mining tumbles

XI. Commonly confused words.

Circle the correct word in brackets in each of the following sentences.

This report examines the (relationship/relation) between education and the level of
development in Africa.

During the meeting, he made a brief (illusion/allusion) to the decline in exports to Western
Europe.

Austria has been (accepted/excepted) into the European Union.

Of the two proposals put forward, | prefer the (later/latter).

(Who's/Whose) responsible for consumer affairs in this company?

XI1. Countable and uncountable nouns.

In each of the following sentences indicate with a tick (V) or a cross (X) whether the
noun in italics has been used correctly. If not, write the sentence out correctly in the space
provided.

Their training has been organised to cover basic communication skills............ccc.ccocceennne.

Over the years our company has accumulated a lot of experiences in the field of laser
SCANNING TECANIGUES. ..ottt bbbttt sbe e

Our premises are located in the centre Of BruSSelS. .........ccoeviiiiiiiie i

Businesses were especially good last quarter and this will affect our profits for the year...
The datas show a fall in the number of fatal accidents. ...........c.ccccoiiiiiinie
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salary

product

assembling

strategy

distributor
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American

British

Dutch

French

Spanish
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export

brochure

slogan

executive

to afford

computer

agent

to rise

le

2C

3a

Af

5d

69

7b

make, to do

to do

make

makes

has been making/has made

do
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To make/Making




in

for

with

of

o

of

1]

2f

ad

4f

5h

6a

/C

8b
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9

-
©

10i

raise capital/issue shares

move funds

provide a loan

AlwINE

change foreign money

+

+|+

relationship

allusion

accepted

latter

Wha's

\Y

X experience

\Y

X Business

OB WIN P IX|ONR W IN X001 W) N =X

X data

Ounenka/0aibl

Kpurtepuu ouenku

Omauuno

90-100 % mpaBUILHBIX OTBETOB

Xopouwio

70-89 % mnpaBHIBHBIX OTBETOB

Yooenemeopumenwvno

50-69 %  npaBHIIBHBIX OTBETOB

Heyoosnemegopumenvno

49% u MeHbllIEe IPABUIIbHBIX OTBETOB

Kpurepuu 1 mkana olleHMBaHus NOCENAEMOCTH 3aHATHH




HOCCH.[GHI/IG 3aHATUH OGy‘-IaIOH_II/IMI/ICH OMPCACIIACTCA B MPOUCHTHOM COOTHOIICHUHN

Bajibl Kpurepuu onenku
10 nocemaemMocts 75 - 100 %
5 nocemaeMocts 50 - 74 %
0 nocemaeMocth menee 50 %

4. KpnTepnn U IIKa/JIa ONCHUBAHUSA PeE3yabTaTOB Oﬁy‘leﬂlflﬂ no AUMCHMIIINHE
(MO)Iy.]'[]O) IpH NPpOBE€ACHUHN NPOMEKYTOUHOM ATTEeCTALINN

KpuTepuu u mikana oleHHBAHKS PE3YIbTATOB OCBOCHUS TUCIIAIINHEI (MOI[VJ'I?I)
C 3aYE€TOM C OIICHKOM
Ecmu o6yqafomm710;1 Ha6pan 3a4ETHOE KOJHWYECTBO 0AajIJIOB COIJIACHO YCTAaHOBJICHHOMY

JAUAITa30oHy 110 AUCHUIIIINHC (MO,I[YJ'II-O), TO OH CUHTACTCsA aTTCCTOBAaHHBIM.

Ouenka Bansbl Kpurtepuu oneHuBaHus

HaGpaHo 3aueTHOE KOINYECTBO OAJLIOB COTJIACHO
YCTaHOBJICHHOMY ANANA30HY

3aumeno 60 - 100

3a4eTHOE KOJMYECTBO COTJIaCHO YCTaHOBJICHHOMY

Hezaumeno meHee 60
Jiarna3oHy 0aIoB He HaOpaHo

5. 3ajaHusi AMATHOCTHYECKOIl paldoThl Il OLEHKH pPe3yJibTATOB O0y4YeHHS 110
AUCHHILIMHE (MOIYJII0) B pAMKaX BHYTPeHHell ¥ BHeLIHel He3aBHCHMOM OLlEHKH KayecTBa

o0pa3oBaHus

®OC couepXuT 3afaHusl JUIsl OLEHUBAaHUS 3HAHUM, YMEHUH M  HaBBIKOB,
JEMOHCTPUPYIOIIUX YPOBEHb C(HOPMHUPOBAHHOCTH KOMITETEHIIMHM U MHJIUKATOPOB UX JIOCTHKEHHUS
B IIPOLIECCE OCBOEHUS AUCLUIUIUHBI (MOYJIS).

KommuekT 3aianuii pa3paboTan TakuM 00pa3oM, YTOObI OCYIECTBUTH MPOLETYPY OLEHKH
KaX/I0M KOMIIeTeHLUH, (opMUPYeMBbIX TUCHMIUIMHOM (MomyneMm), y oOyuwaromerocs B
NUCbMEHHOHU (opMme.

ConeprxaHue KOMIUIEKTA 3a/laHUI BKIIIOYAET: mecmosble 3a0aHus.

KomnuekT 3aganuii 1MarHOCTHYECKOH padoThI

VK-4 Cnocoben NPUMCHATL COBPCMCHHBIC KOMMYHUKATHUBHBIC TCXHOJIOTMHW, B TOM YHUCJIC Ha
I/IHOCTpaHHOM(BIX) SIBBIKe(aX), JUIA aKaACEMHUYCCKOIo 1 HpO(I)GCCI/IOHaJ'ILHOFO B3aPIMO,Z[€fICTBPIH

VYK-5 CrnocobeH aHanu3upoBaTh U YUUTHIBATh pasHOOOpasne KyJlbTyp B MPOLECCE MEXKKYJIbTYPHOTO

B3aUMO/IECHCTBUA

| Bapuanrt

SOME FACTS ON THE DEVELOPMENT OF THE NUMBER SYSTEM

A Counting represents a very important milestone in the progress of civilization. Of course
there were no number names at first; so counters were used. For counters man used sticks, pebbles,
his fingers, and in some instances, his toes also. In fact the word calculus comes from the Latin,

meaning pebble; our numerals are called digits from the Latin, meaning finger.



B It is possible to mention only a few important achievements in the history of
mathematics. Historical records give evidence of the astronomical and arithmetical achievements
of the early Babylonians, Sumerians, and Chinese. Somewhere in the distant past man learned that
number was useful for civilized living. As early as 5,700 B.C. predecessors of the Babylonians

had calendar and a type of practical arithmetic.

C Only about 300 years ago a great mathematician and philosopher, Rene Descartes (1596-
1650), represented number pairs by points. This creation made possible the great advance in
science and mathematics during the eighteenth century. In 1642 one of the greatest minds of all
time Isaac Newton was born (1642-1727). Newton was one of the inventors of the calculus which

is now studied by college students who are seriously interested in mathematics or physical science.

D Like Archimedes, Galileo, Copernicus and Newton, Lobachevsky (1792-1856) is one of
those who laid the foundations in science. Lobachevsky created one of the greatest masterpieces

of mathematics — non-Euclidean geometry.

E Our number system uses only the symbols 0, 1, 2, ... 9; it has base ten and positional
notation. Thus any integer can be expressed with these symbols in various combinations and
arrangements. The base of our system is ten. Ten is probably the base because we have ten fingers

and the fingers were used in the early stages of counting.

F It is not known when or by whom zero (nought) was invented. Historians thinks that zero
was introduced by the Hindus or the Babylonians not later than in the ninth century A.D. and
probably as early as the second century B.C. The invention of zero and our number system is one
of the greatest achievements of the human race, without which the progress of science, industry,
and commerce could be impossible. This new system was introduced in Europe by Arabs, or
Moslems, at about the beginning of the tenth century. These new numbers were used, and finally,

after about five centuries, the decimal system won the battle.

milestone — Bexa masterpiece — meaeBp

pebble — ranbka, OyIbLKHUK

Buvioepume omeem, coomeemcmeyrouwuii cooepiicanuio mekcma

1. (3muH, YK-4, IIK-3) What was the turning point in the development of civilization?

A ... the development of geometry C ... binary system of notation




B ... counting D ... the invention of a wheel

3asepuwume npeonorcenue 6 coomeenmcmeuu ¢ OCHOBHOIU memoil adzaua
2. (3mun, YK-4, TIK-3) The passage F is about
A ... the development of counting in Europe
B ... the progress in Hindus industry
C ... the spreading of the knowledge about number zero round the world
D ... the Babylonians
Onpeodenume, 6 Kakom adzaye cooduiaemcs

3. (3mun, YK-4, [1K-3) 0 TOM, 4TO B APEBHOCTH JIFOAM UCIOJIb30BAIH I Cu€Ta HE HUPPHI, a

IaJoO4KHu, KaMCIIKH U T.II.

4. (3mun, YK-4, [1K-3) Boioepume npeonosicenue, cOOmeencmeyouee co0epHcanuIo meKkcma.
A Newton was the first who represented number pairs by points.
B It is well known when and by whom zero was invented.
C The Latin word calculus means sticks.

D One of the important achievements in the history of mathematics was the creation of

non-Euclidean geometry.
Ilpouumaiime navano npeonoxcenus u gploepume €20 nPoOoIdHceHue
5. (3mun, YK-4, T1K-3) The base of our system is ten because
A ... early Chinese used ten as the base for counting
B ... ten fingers were used in the early stages of counting
C ... Archimedes introduced this number
D ... mathematicians found this number very useful

Coomnecume oOanmbvle ymsepofcdenu;l C coomeemcmeyrouiumu a63auamu mekcma

(A,B,C,D,EunuF)

6. (3mun, YK-4, TIK-3) Ten numeration system came to Europe at about 10th century.



7. (3mun, YK-4, TIK-3) The modern form of calculus was invented by Newton.

8. (3mun, YK-4, TIK-3) At first numbers had no names.

9. (3muH, YK-4, T1K-3) The word digit came from Latin.

10. (3mun, YK-4, T1K-3) A point can be represented by a pair of numbers.
3amenume CJ1060, oamnHoe 6 c1<061<ax, AHZIAUTCKUM IKBUBATIEHIOM

11. (2 mun, YK-4, TIK-3) ([podn) like ¥4 represent values less than one.

12. (2 mun, YK-4, TIK-3) If (maOxectBa) contain the same elements in exactly the same order

they are equal.

13. (2 mun, YK-4, TIK-3) (Cnoxenwue) is the reverse operation of (Beruntanus).

14. (2 mun, YK-4, TIK-3) Two number lines are intersected to form a coordinate (rockocts).
15. (2 mun, YK-4, TIK-3) (Iyra) is a curved segment of a circumference.

16. (2 mun, YK-4, TIK-3) To find the value of the (mepemennas) we should solve the equation.

17. (2 mun, YK-4, TIK-3) The chess-board Geometric Progression is an (Bospacrarorias)

progression.
18. (2 mun, YK-4, TIK-3) The common (cootrnomenue) of a progression may be negative.
19. (2 mun, YK-4, TIK-3) The (u3mepenus) are to be as precise as possible.

20. (2 mun, YK-4, TIK-3) A (tpeyronwsnuk) is a plane figure founded by three straight lines and

containing three angles.
21. (2 mun, YK-4, ITIK-3) You can check (zenenue) by (ymHOKEHHEM).

Bcmasvme ¢popmy cxazyemozo

22. (2 mun, YK-4, TIK-3) Mike came when | the equation.
23. (2 mun, YK-4, TIK-3) He just a square.
24. (2 mun, YK-4, TIK-3) We a chord as a line whose endpoints are the points of a

circumference.

25. (2 mun, YK-4, TIK-3) Newton a professor of mathematics in 1669.



26. (2 mun, YK-4, IIK-3) Listen, she the second proof of this theorem now.

27. (2 mun, YK-4, TIK-3) Polynomials always more than one term.

28. (2 mun, YK-4, I1K-3) She just the result.

29. (2 mun, YK-4, I1K-3) The teacher about the features of plane figures now.

30. (2 mun, YK-4, T1K-3) Lobachevsky non-Euclidean geometry in the 19" century.
31. (2 mun, YK-4, IIK-3) The student used this theorem while he the problem.

3amenume MoOabHBLI 27142071 IKBUBAIEHIOM
32. (2 mun, YK-4, I1K-3) He must prove this statement.
33. (2 mun, YK-4, TIK-3) She can give the definition of closure.
Ynompeﬁume coomeemcmeyrouiyro Cmenenb Cpa6HeHusn
34. (2 mun, YK-4, I1K-3) He met his friend yesterday. (good)
35. (2 mun, YK-4, T[IK-3) Public transport in London is (expensive) than in Paris.
Ilepeseoume npeodnosrcenusn

36. (2 mun, YK-4, TTIK-3) The man standing at the desk is my research adviser.
37. (2 mun, YK-4, TIK-3) They expect to be given complete information by Friday.
38. (2 mun, YK-4, TTIK-3) The problem being easy, the students solved it at once.
39. The problem is likely to be solved.

Ilocmasvme cnoga 6 npasunbhom nopaoke

40. (2 mun, YK-4, TIK-3) the news — yesterday — saw — television — I —on

KJIFOYH | BapuanT:

1B/2 C/3 A/ADI/5BI6 FI7 C/8 A/9 A/10 C/11fractions/12 sets/13 addition, subtraction/14 plane/15
an arc/16 unknown/17 increasing/18 ratio/19 measurements/20 triangle/21 division,
multiplication/22 was solving/23 has drawn/24 define/25 became/26 is giving/27 contain/28 has
checked/29 is speaking/30 developed/31 was solving/32 has to/33 is able to/34 best/35 more



expensive/36 UemoBek CTOSAIININ y CTOJIa — MOW HAYYHBIN PYyKOBOAUTENb. /37 OHU PacCYMTHIBAIOT
Ha TO, YTO MM JaayT MoJiHyo wHpopMaimio Kk matHuie. /38 [Tockonbky 3amada ObLIa JIETKOM,
cryneHThl pemmm e€ cpasy. /39 BepositHo, 3amauy perat. /40 Yesterday | saw the news on

television.

Il BapuaunT

THE DIFFERENTIAL CALCULUS

A The differential calculus is concerned with rates of change. In practical life we constantly
come across pairs of quantities which are related, so that after both have been measured, when we
know one, we know the other. Thus if we know the distance along a road from a fixed point we
can find the height above sea level from a map with contours. If we know the time of day we can
determine the air temperature on any particular day from a record of a thermometer made on that

day. In such cases we often want to know the rate of change of one relative to the other.

B If x and y are the two quantities, then the rate of change of y to x is dy/dx. For example
if X is the distance of a point on a railway from London, measured in feet, and y the height above
the sea level, dy/dx is the gradient of the railway. If the height y increases by 1 foot while the
distance x increases by 172 feet, the average value of dy/dx is 1/172. We say that the gradient is 1
in172.

C The mathematical part of the calculus is the art of calculating dy/dx if y has some
mathematical relation to x, for example is equal to its square or logarithm. The rules have to be
learned like those for the area and volume of geometrical figures, and have the same sort of value.
No area is absolutely square, and no volume is absolutely cylindrical. But there are things in real
life like enough to squares and cylinders to make the rules about them worth learning. So with the
calculus it is not exactly true that the speed of a falling body is proportional to the time it has been

falling. But this is close enough to the truth for many purposes.

D The differential calculus goes a lot further. Think of a bus going up a hill which gradually
gets steeper. If x is the horizontal distance, and y the height, this means that the slope dy/dx is
increasing. The rate of change of dy/dx with regard to y is written d? y / dx. In this case it gives a
measure of the curvature of the road surface. In the same way if x is time and y distance, d?y / dx?
is the rate of change of speed with time, or acceleration. This is a quantity which good drivers can
estimate pretty well, though they do not know they are using the basic ideas of the differential

calculus.



E If one quantity depends on several others, the differential calculus shows us how to
measure this dependence. Thus the pressure of a gas varies with the temperature and the volume.
Both temperature and volume vary during the stroke of a cylinder of a steam or petrol engine, and

the calculus is needed for an accurate theory of their action.

contours — zeode3. TOPU30HTAIb slope - ykion
gradient — rpagieHT, YKIOH estimate - orieHUBaTH
steeper — 6osiee KpyTOit stroke — xon

Boibepume omeem, coomeemcmeyoujuil coo0epicanuio meKkcma
1. (3 muH, YK-4, [IK-3) What is the purpose of differential calculus?
A ... to measure the dependence on other disciplines
B ... to find the value of one unknown
C ... to calculate related quantities
D ... to calculate the product of two quantities
3asepuiume npeonoicenue 6 coomeencmeuu ¢ OCHOGHOU memoil adzaya
2. (3 mun, YK-4, I1IK-3) The passage A is about
A ...the applying differential calculus to our everyday life problems
B... the way of finding the height above the sea level
C... the way to determine the air temperatures
D ... the formulas used for differential calculus usage

Onpeodenume, ¢ Kakom ad3aye cooouyaemcsa
3. (3 mun, YK-4, [IK-3) o Tom, uto nuddepeHnnanbHble BBIYUCICHUS CTOUT U3Y4aTh, TOCKOJIBKY

OHU UMCIOT HIMPOKOEC NPAKTHICCKOC ITIPUMCHCHUC.

4. (3 mun, YK-4, TIK-3)  Beloepume npeonosicenue, coomeemcmeyouiee coO0eprHcanuio

meKkcma.

A Differential calculus deals with constant values.



B Differential calculus deals with one or more dependant values.

C Differential calculus deals with two or more independent values.

D Differential calculus deals with two values only.

IIpouumaiime nauano npeonoxcenusn u gvloepume €20 RPOOoJIHceHue

5. (3 mun, YK-4, I1K-3) Differential calculus is applicable to know ...

A ... the Cartesian product. C ... the radius of a circle.
B ... the difference of two or more values. D ... the rate of change of one related value to
the other.

Coomnecume 0anHuvle ymeepHcoeHUs ¢ coomeemcmayromumu aozayamu mexkcma (A,

B, C, D uau E)

6. (3 mun, YK-4, I[1K-3) Using differential calculus we can find out the dependence between the

volume and the temperature of gas inside an engine.
7. (3 mun, YK-4, IIK-3) We can find the rate of change of related numbers by the formula dy/dx.
8. (3 muH, YK-4, TTK-3) We often deal with two related quantities in our everyday life.

9. (3 mun, YK-4, T1K-3) The usage of differential calculus in our everyday life is like the usage

of our knowledge about volumes of geometric objects.

10. (3 mun, YK-4, TIK-3) Sometimes people use the basic ideas of the differential calculus without

realizing this fact.
3amenume CJ1060, oannoe 6 CKOﬁK(lX, AH2IUTICKUM IKBUBATIEHHOM

11. (2 mun, YK-4, TIK-3) A (tpeyronsnuk) is a plane figure founded by three straight lines and

containing three angles.
12. (2 mun, YK-4, TIK-3) ([dpo6n) like ¥ represent values less than one.
13. (2 mun, YK-4, [1K-3) The common (cootnomenwue) Of a progression may be negative.

14. (2 mun, YK-4, T1IK-3) If (mMHOXecTBa) contain the same elements in exactly the same order

they are equal.

15. (2 mun, YK-4, TIK-3) You can check (nenenue) by (ymHOXeHHEM).



16. (2 mun, YK-4, [IK-3) (Cnoxenwue) is the reverse operation of (Bbrunrtanus).

17. (2 mun, YK-4, TIK-3) The chess-board Geometric Progression is an (Bospacrarorias)

progression.

18. (2 mun, YK-4, TIK-3) Two number lines are intersected to form a coordinate (mrockocts).
19. (2 mun, YK-4, TIK-3) ([yra) is a curved segment of a circumference.

20. (2 mun, YK-4, TIK-3) To find the value of the (nepemennas) we should solve the equation.
21. (2 mun, YK-4, TIK-3) The (u3mepenus) are to be as precise as possible.

Bcmaevme popmy ckazyemozo

22. (2 mun, YK-4, I1IK-3) She just the result.

23. (2 mun, YK-4, TIK-3) The teacher about the features of plane figures now.

24. (2 mun, YK-4, I1K-3) Mike came when | the equation.

25. (2 mun, YK-4, IIK-3) We a chord as a line whose endpoints are the points of a

circumference.

26. (2 mun, YK-4, T1K-3) He just a square.

27. (2 mun, YK-4, T1K-3) Lobachevsky non-Euclidean geometry in the 19" century.
28. (2 mun, YK-4, ITIK-3) The student used this theorem while he the problem.

29. (2 mun, YK-4, T1IK-3) Newton __ a professor of mathematics in 1669.

30. (2 mun, YK-4, TIK-3) Listen, she the second proof of this theorem now.

31. (2 mun, YK-4, TIK-3) Polynomials always more than one term.

3amenume MoOaAnbHBLI 2714201 IKEUBATIEHMOM
32. (2 mun, YK-4, TIK-3) He must prove this statement.
33. (2 mun, YK-4, TIK-3) She can give the definition of closure.
Ynompeﬁume coomeemcmeyrouiyro Cmenenb Cpa6HeHus

34. (2 mun, YK-4, TIK-3) He met his friend yesterday. (good)



35. (2 mun, YK-4, T1IK-3) Public transport in London is (expensive) than in Paris.
Ilepesedoume npeonosricenusn

36. (2 mun, YK-4, I1IK-3) The problem is likely to be solved.

37. (2 mun, YK-4, T1K-3) The man standing at the desk is my research adviser.

38. (2 mun, YK-4, T1K-3) The problem being easy, the students solved it at once.

39. (2 mun, YK-4, [1K-3) They expect to be given complete information by Friday.

Ilocmaevme cnosa 6 npasuibHom nopﬂOKe

40. (2 mun, YK-4, TIK-3) the Institute — does — live — he — near?

KJIIOYMU || Bapuant:

1 C/2 B/3 Al4 B/5 D/6 E/7 B/8 A/9 C/10 D/11 triangle/12 fractions/13 ratio/14 sets/15 division,
multiplication/16 addition, subtraction/17 increasing/18 plane/19 an arc/20 unknown/21
measurements/22 has checked/ 23 is speaking/24 was solving/25 define/26 has drawn/27
developed/28 was solving/29 became/30 is giving/31 contain/32 has to/33 is able to/34 best/35
more expensive/36 BepositHo, 3amauy permiar./37 YelnoBek CTOANIMIA y CTOJIA — MOW HaydHBIN
pykoBoauTens./38 T[lockoabpKy 3amada ObUTa JIETKOW, CTYIACHTHI permmin e€ cpaszy./39 Ounu
PacCUUTHIBAIOT HA TO, YTO UM JaayT HONHY0 uHbopmarmio k mstauie./40 Does he live near the
Institute?



